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QUESTION 1
Click the Task button.

Place the lines of code in the appropriate positions in the code fragment to make an HTTP POST request.

Select and Place:

Flace the lines of code in the appropriatz positions in the code fragment to make an HT TR POST
request.

Fragment

11. HttpConnection conn = (HttpConnection)Connector . open{url);
12 . conn.=stReques:Property( 'Content-Language' ., "en-05"1;

13. conn.=etRegques Property('Uzer-Agent". "ProfilesHMIDP-2. 0
14, ConfigurationsCLDC-1.1");

15. Flace here. :

1A Flace hare,

17 . c=.write(reguestData getBytes()):

18. if (] Flace here, | != HttpConnsction HTTEF_OK) {
19. return nul_.

205k

21 | Flace here, |

22. ttringBuffer biffer = new StringEufferi};
23. int ch = -1;

24 while ((ch = is.read{}) I= -1} {
%E . : buffer appewd( (charich):
| Code
[conn oetResporzeCodef] | [0z Huzhi] |
[Gtria by = conn getTypel] | [DutputStiean o3 = conn openOutputsheam) |
[InputStream is = conn openlnpuiear] | lzonn setFecuestPropertyl ' Connecton” close’] |
[conn setRequesttdethodHitpCoinection FOST] | [int lenath = conn getl engthf] |

Correct Answer:
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Flace the lines of codein the appropriatz positions in the code fragment to make an HT TR POST
regquest.

Fragment

11. HttpConnection conn = (HttpConnection)Connector . open{url);
12 . conn.=setRequesProperty( 'Content-Language' ., "en-05");

13. conn.=etRegques Property('Uzer-Agent". "ProfilesMIDP-2. 0
14, ConfigurationsCLDC-1.1");

15 ssflushi] :

16 |t length = conn.getl ergthl]
17 . c=.write(reguestData getBytes()):

18 if ([lnputShear s = conn openlnpulStean) | = Bttplonnsction HTTE_OK) {
19. return nul_
20. %

21 . |conn setRequestPropenyl Connecton’, "close"] |
22. ttringBuffer buffer = new StringBuffer():
23. int ch = -1;

55 GHile (loh 5 Ssoreadls] Eealild
AL buffer appewd( (charich):
26 F
Code
[conn oetResporzeCodef] | |
|String type = conn getType(] | [DulputStiean o5 = conn.openDutputStean)

|
|
] ]
]

[conn setRequesttdethodHitpCoinection FOST] |

QUESTION 2

Which four are absent from the CLDC virtual machine? (Choose four.)
A. class file verification

B. thread groups and daemon threads

C. asynchronous exceptions

D. multi-threading

E. custom class loaders

F. object.finalize() method

G. inner and anonymous classes

Correct Answer: BCEF

QUESTION 3

Which three are defined as user interaction permission modes? (Choose three.)
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A. global

B. session
C. oneshot
D. application
E. blanket

Correct Answer: BCE

QUESTION 4

Given the MIDlet code:

7.

String s = System.getProperty("microedition.configuration");
8.

if (!s.equals("CLDC-1.1") {

9.

s ="CLDC-1.1%

10.

}

11.

System.setProperty(s); Which statement is true?
A. SecurityException is thrown at runtime.

B. Property is set to "CLDC-1.1."

C. Compilation fails because of an error in line 11.
D. Compilation fails because of an error in line 7.

Correct Answer: C

QUESTION 5
Given:

DatalnputStream incoming = Connector.openDatalnputStream("sms://+3125551234:3434"); Which is true?

170-869 PDF Dumps | 120-869 Practice Test | 1Z20-869 Exam Questions


https://www.geekcert.com/1z0-869.html
https://www.geekcert.com/1z0-869.html
https://www.geekcert.com/1z0-869.html

VCE & PDF https://lwww.geekcert.com/1z0-869.html
2024 Latest geekcert 120-869 PDF and VCE dumps Download
GeekCert.com

A. The + in the URL is positioned incorrectly.

B. MessageConnection does NOT support InputStream objects.
C. Port numbers are NOT allowed in SMS URLs.

D. The port number indicated is a protected SMS port.

Correct Answer: B
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